







































































































Recall the unit circle x7y2 r

Sino _y Csc T to

cos X sect O

tant O coto ytO

The following can be inferred

tant soinsofcott fii.toL1 tano
coto

sino cscO

cost_self Sec

These are our basic trigidentities










































































































x y
definition ofunitcircle

fosottlsino t Note
cos't tsin't I cost0 40505

Pythagorean Identity
sinH lsm.tl

Similarly

Recallsin't arcsino

sin't 1050 1 sin'ftcos't
co.IE L sit It L

off cos't cos't gin20 sin't Sint

t I _6 it of

tan't 1 I seif It cot't sit











































































Notice, we DO NOT MOVE ANYTHING OVER THE EQUAL SIGN.






Identity if given two functions andglx

f x gk for all values
of

X in both functions domains

Consider the system of 2 Linear equations

y 2x I

4 21 3 15

Both certainly lookequal Prove it

2x 1 26 3 15
2 1 2 6 5
2 1 2 1 QED







Our objective for this topic is to prove that these identities are true. We will be using various 
algebraic manipulations and identity substitutions in order to do so.

 I repeat, DO NOT MOVE ANYTHING OVER THE EQUAL SIGN.






























































































Verify that these equations are identities
Consideryourselves

sinfoot 0 050 aplastic surgeons
sinOf cost your job is to

make ugly into
cos cost

pretty

or
cost sect cost siiO

Cost sect coff in't

cos cos't Simo

1 cos't sin't Notreally
2 E necessary

sina.tcos.G coso ss.no step but

Sino sin't II it helps










































































































Sino cosotsinf tant
cost 1050

Sino Kosott

osot
tanf

51nA
Tosa

tanf

tant tant D

Hsin t Sino cos't
1 sin't cost

cos't cos't QED










































































































inOtcoSf see 0 125in 0
cost

s t2 ftoO sect 12sin0

cost

ftf t2 0 secft2smO
Cos f

sect 12sin0

cost

cost 1 2sinfogoft secf 2s.int

sect t 2sino sect 12sino

QED










































































































CoS2 f
t

act

fine sinffssi.no

cscoccos'sntfiiIcscOsinocscOcscOcscO I

LCD










































































































Sin tan't tan E si n f

si n f ta if sin't
too

sin 0

sin't fait Sisto
siit
off

si Mt tant gift I cos't
too

sin't tanto sin't sin
cu s't

s n f tant sin't ta n't I
























































































costt

Tty
l c

tank

io.is ast iEItEYeEEsect

l cosCt
I seiLt tan Ct

cosCt cos A Isas
t

cost I 1 cosCt

tant tant

tasty QED
taitt

Multiply by the conjugate



Seck s tank 1056

six seY

ssfft.fi H sinehiI.sfsnfxtd taiEIIiY

seiix.sn eiix tai'IIiYI
lttan x 1 cos'Cx tank 1056

E

lttanfxzggx tailxfa.tn
DtanYx

tcosYx tan4xIatf
tax 17


